
����������	
�	�
������
���	
�������������	
��������������
���������	
��
�������	����������	���������

��	������

1. �������	���	��������	
��������	� 
��	������
	���������	
1

2
2

2
2 2

−
−=−

a

axx  �����	��������

��	 ������	�����������	 1
532

1 ≥
+−+ xx

�

 �	 ������	���������	 1loglog
27

loglog 32

9

2 += x
x

x �

!�	 ��	 ��"���	 ��	 ������
	 ������	 
�������������	 ��"��	 
�	 �����	 �������	 ���#��	 ����������	 ��
�������	 �������	 ����	 ���#�	 ��	 #��"�����	 �������	 
�������������	 �����	 $�	 %��&���

���#�	�����	'$�	�����	
��&���	
��������������	����	���������	���	����	��	���	������	�����	(�

'�	 ������	���������	 xxx cos
6

cos
3

sin =




 π+





 π+ �

��	������

1. �������	���	��������	
��������	� 
��	������
	���������	
aa

axx

2

2
3

2
22

−
+=+  �����	��������

��	 ������	�����������	
2

1

1043

1 ≥
+−+ xx

 �	 ������	���������	 1loglog
16

loglog 2343 += x
x

!�	 ��	 ��"���	 ��	 ������
	 ������	 
�������������	 ��"��	 
�	 �����	 �������	 ���#��	 ����������	 ��
�������	��
���	����	���#�	��	#��"�����	�������	
�������������	�����	��	%��&���	���#�	�����

$'�	�����	
��&���	
��������������	����	���������	���	����	��	���	������	�����	(�

5. ������	���������	 xxx cos2
3

cos
6

sin =


 π−


 π− .


